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July 11
X'ONn XNn

The Entrance

The Question , Where Is It , The Entrance, The Answer
(:11 MM22) XINK 2T XMN°D 72 MK 230 TP KT MU K 17 10K 2 710K KNP X7 XIK 7177 70K 109
“Show me the entrance to the House of the Wise Men of Athens”

12 1K Ui 11 XXP X D010 1K XK MY b X 12 DWW Y D12 X PR 17 7P RIN
>0 1377 U MK D2W 18 WL TOM 7R U X127 DX OXT°1 22021 701 NP LN X120 DX XI1IXT0
(:77 111VID) 121 121 IPW INMADWAT WK NN 271

"Show us the entrance to the city.”
The Question, Where Is It, The Answer, The Entrance

TAX NXT XNRPU? XPNXK 779 0K 1 12 NUAR 2277 XNIUNRT XADPOX 27R T 1°PKD mowX 19 12 uenm
21 71D XK W DX DK 1P 0K NUAY AWOw D1P1 1K D2Iw 12 12 BT N IRK T IR Y OX TR
(.17¥ PI77I0) ((X"13) *n17T) XNIPT XANPOX 21217 XM 712 197w

"And where is he sitting?” -R’ Yehoshua Ben Levi

“At the entrance to the city (Rome).” -Eliyahu Hanavi

ﬁf The Entrance, The Entrance ﬁf‘

Here are two places in 0" that X177’ tells us a 72971 with two entrances.

D°MND 1 12 W OX NAX N2 270 70X 1N 12 @ OX X317 27 70K 7757 030 70 mno 219 s .1
(.72 Mmn) mnm nwa 2°n

MR DX MM W XX TIRK K? X237 10K D170 712°7% DN 21w 719 W X0 X0 K .2
>12°% o1 NAX M2 190K XnDUT KT KPP K 1XNT XTWN KT DR XX 10" PIY XD nnx
PKi12 D917 PIT XNN 127 XTWN D1wn 02187 °02Y K7 201 M 1wn "X XNn 2327 KT °K
(.30 N2w) 121121 PPRIX XD 01 XM 772 222X XD XMAN’D *KiT27 °2°7 °2 » 1K1 °Ki1a 207 K21
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waws
(mon 5w 71731) 19 TND NX

There is the front door of X*0nn XNn.

Openit.

J PL ”Um, actually | found that it was already opened.”

(> mand) 9 X A XN2737 71910 1MA0K (algh ! 9 INX
(.7 MNP72) MWK S8 N
There is the front door of X*0rn XnNn.
Openit.
Ask the question.
Why was man created?

Faux Amis (False Friends: words that seem similar but aren’t)

péche peach
péché sin
péche fishing

ce la péche , Avoir la péche: Means to “have the peach” this is an expression which means to be in high
spirits.
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Now for theHebrew/Aramaic’s:
(.12 7nn) wawa
Door
(.7 M212) wawo
To search, investigate etc..
(:M31 7771) wowD
Bedbug

This is my ]1°0 to remember this door definition since the other one is more famous, | don’t need a 2°0
for that one.

The 12°0 is(X TAL 172 N12712) 7N 771X77 1N XX 17207 1°X So when you are 7127 someone you
could say “Pishhh, Poshhh, You are Super Important Pishhh Poshhh. Let me get the door for you.”

N'ONN NN

The Entrance

Why was man created?

X721 779X5n DNuS OX X721 719 Dnub ox U7 P 70T DUk 0K TKIY X121 Dnub 0K 9 TTUPK K
XIw2 ArPw Snu? X 770 PRu OX U7 °PK 7T X021 719 PRu? 10K 1 1070 1POU AKX 22 TRIK XN
(:10¥ PITI0) X723 7NN DALY K 0 PO AT ANNA 190 W XD NI
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Push Push
Writing seen on the door of a hospital maternity ward:

Push Push
You May Enter
Rabbi Yehuda’s Shiur, the 7774...

(:21 PYNTR) *Xn 7101DN PMT TIW... D121 D12N10 P17

function pushandEnter() {

18
11 const array = ["pnT”,"D12117];
12 array.push("npn71");
array.push("noi211")
14 console. log(array) ;

5 }

=]

Execution log

5:16:56 PM

Notice

Execution started

5:16:57 PM

Info

[ '"pomm' , ‘apmt , 'ont o, et ]
5:16:56 PM

Notice

Execution completed
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Places and Xpp "1
So XBDB 17 says it is talking about a place with a specific 111n:

(.17°13) °0718 230 X5T XINX XDD 1 INX
(:1 MAIN2) PPOU TN PAND PR DIPNR2 X XDD ")

Well X9 27 is P27 between this place and that place:

(.7 M2IN2) 127N XD w2 °23 U 000 N3 XKW D"UX 19221 XDD M INK
(1 PRTR) 1.1 11w KD PWTRR 1T 09200 1w N °P200 1T P TpnT XINKA XD 1 INK

The words X°0rn XN UK don’t appear anywhere in 0”Ww.

You are seeing it only here, right here in this place where you are right now.

X°onn XN PPN ...

n”a
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Cities Ino”"w

Welcome to X0 XN

Population:
(.7 M21N2) 192N XPHN1 7121 XpDnT KON XNN 130
Synagogue: Ownership (private/public)

X127 XPU2 X INKP 27T XNUTXT 1172 772 1K XAPUAT 23 28 X X°0M7 XNnT XNw?ID *2 K1 WX 0K
(12 797n) 12

Synagogue: Structure (relative to the structures of the houses)

D117 TAXIY 7277 7102 NI NP2N Pal PR U P2 27 7K X231 XA ' 7K X010 12 X271 0K
XNNY X720 KIX WX 0K 712 12 002 AR P wIpwRa PaX 0°N23 AP0 DX TR IRhK N2 DX
(.X° DY) 27 XPT X0

Rav Ashi did something to prevent the city from being destroyed due to the sin of having
the Synagogue not as tall as the other houses of the city.

27127 NP DPNA TPANTON DU XM XN 70 120w WRTOWK 1" wID

He was the 2w WX in the city and he prevented them from raising the heights of
their houses higher than the height of the synagogue.

Units of Measurements of Meat:
(.DD HK’:I) NU27 13591 XU37 X X0 KON
Friendliness of the inhabitants:

79 K X123 X7 FPX7 1122 X X7 °00°N el P02 X723 XA ﬂbﬂ NDIN PN T PR 2207 M X320
(.J'? PYITR) 1127 112 °0°37 1777 X0 XN XnoT

They were very friendly.
Destruction:

(.&° naw) nan X5 U IMXND 7290 Xim
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Daffin == 100
function leftIsRight() {

var leftRight """ + "Left And Right";

"4 " + "Right And Left";

var rightLeft
leftRight = rightlLeft;
}

phrases = {

78 : 1xipp,

22 : 2x1DpPP,

50 : 1AnnXmIrKwnI,

50 : 2AMnXIrKReyoI,

9 : PruInxIoT,

91 : INXIMWNITIY,

function daffinEqualsOneHundred(num1,num2) {

if (num1 + num2 == 100) {return "Equals One Hundred"}

else {return "Does Not Equal One Hundred"};

%
console.log(daffinEqualsOneHundred(phrases. 1xiopp, phrases. 1x10p77) ) ;

console.log(daffinEqualsOneHundred(phrases. 1x10p7p, phrases.2x10p7p) ) ;
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Execution log

PM 3:25:03

Notice

Execution started
PM 3:25:05

Info

Does Not Equal One Hundred
PM 3:25:05

Info

Equals One Hundred
PM 3:25:04

Notice

Execution completed

(.71 M) (:20 PPL) AL P2 TR PR XIepp .1
(3 P2PR) (3 PYATR) PR NAX N2212°DK 770X 1 1PKY 92 127 K .2
(:0 WD) PrUNK o .3

(:X¥ ©>771) X3 7IN1 PrY M 1NN

¢ ¢ }_GO }_‘

(.71 M) (X PAIPY) IXRN1PEX .4
5. Aramaic Faux Amis

(.71 N1an) PPuVOR
A group of plotters
(.77 7POI) PUNYK

The Ishtatis [River] (Name of a River in the times of Rav)
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The Shoe Store

“Welcome to the shoe store. | am the shoe salesman here in X°011 XN, What is your shoe size?
But first, you might be wondering if the 1127 hold that it is important for you to own a pair of shoes.
Let me prove to you that they do. Look at these X nJ’s:”

(.2p NAw) Y2317 D°PuIA MR P2 MNP OTX Mo’ 0Muh 27 K AN K L1

(.2p °noa) T3 ©°HuIA BIAN DX 121113 DY °21 DX XPY 027 X 0727 Juaw D .2

XTI DR XINWT DIWA XAUY °XN 107 X923 P 712 21001 XD XN P2 1PXT XM°P2 89D MK .3
MAXT XK 779 JONOKT 2701 K7 TPUTIK X2PITT X3 7172 2707 2X1°P0R P03 X012 772 1PX1 7779 970K
12N0MAT U K21 X 72 PR XNDPT XNRUY PXA X972 @PK 72 D1l XD XN 772 P97 X2

(:2°p o’ron)
“Even the D’P17¥ admit that it is important to own a pair of shoes.”

2372 °5UIAT P 12 A SUT 790 010 PUT PP TK 191 AR 12 B ' AR XA D 0K
(.21p NAW) 121 PR 20 AP PEMAT XA XD KT XDT UK T3

You might ask why 172 12 UuN71° "1 according to 072w who says he was the son of X2°pu
there in 0°110B, so why is 1112 12 WY1 "1 not keeping the XN of his father in N2 over there.
| want to suggest perhaps it was a X1 172 1’27 XN°2 according to the first X1w»? in X990 "7 over
there. Also perhaps you can make a P77 in the words of X2°Pu "1 that he didn’t say you should
always wear shoes, he just said 7°2171n 02017 B3NN X which translates as “don’t withhold shoes
from your feet”. | want to suggest this Nw? implies that when the need arises, do not withhold
shoes from your feet, but if there is no need, for example you are in a house without a cat,
according to the first X1”2 in X9 "1 there, so under those circumstances where there is no
need, it wouldn’t be considered “withholding shoes from your feet”, if you don’t wear shoes. |
also want to point out in 27 X M”71 that he says one should sell the beams in his house to
purchase shoes for his feet, but it is still possible to say that this is only for the purpose of having
shoes available to wear when the need should arise for example you are in a house with a cat,
but there is no implication from 217 77X 77177 1 that one needs to wear shoes if he is in a house
without a cat.

“I think that | have effectively proven to you that according to all opinions you should own a pair of
shoes.
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Perhaps you already own a pair of shoes, but they are not in good condition. What do the 7127 say under
those circumstances? | have a 77°X7 that they don’t accept it, and you still need to buy a pair of shoes.”

NX P01 X121 72 XMX 17 XM P]WL/' D UDN 0°PUIN2 XYW 11"N5 X1 K1 MY 7K XIAX 72 X1 X
(.7p Naw) >X51 21 DU XY 1AM M7 772 XX DT

“OK. I can tell you are convinced now. Ok you are interested in purchasing a pair of shoes.
What type of fit are you looking for?”
“A tight fit”:
(.°p NAw) XNMn °1273
P20 17PNAY IR PMTIIMK PP PINon NPAR 1P iPwad Su 0 opm 227 Yan 0nw : 2"wn
“A loose fit perhaps”:
(.2°p Naw) 12772

AWR P MYp X102 DU NP X2 WOIMY D°NUDW P PP PX 0’5371 220 i lZalvli7m IR 7]
o170 VR VY2 227 Xow PITT2 INX PAWRNINIX P7°NN BN DUWIAY 10 e Xn7p W

“Or perhaps you don’t want a loose fit”:
XUV "X NP AKX P27 27127 PO Nawa PaX 1an nawa Nenn XU nK
(.1on PRNTP) XIPLA XD XUT9M 277 XIXDN

“Or perhaps you are torn between wanting a loose fit and not wanting a loose fit, and your desire to
want a loose fit has won over your desire to not want a loose fit”:

PIPAT XU?WT XPTI02 KOX XIWHM K1 KD KIK PXPW 12 1PKT 97302 ¥o17 222200 mneanT kD °X 27 1K
(.2p Mn) DY
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“Ok. The sizing and the exact fit type has been decided. Now, how many pairs do you want?”
The Amorah 1771° "7 And His Numerical Range Of Pairs Of Shoes
He was seen with a half a pair of shoes:
(:72 P1uN) XY XNX XIXRON TN ) "|'?W
He was seen with 5 pairs of shoes:
You might be asking X111 °X71°2 XX *11?
Five pairs of shoes?

(:2p MND’) XPIW? > °NT AWANA P37 AN 2172 1327 AP PR
The Exit

XINDN2 XDD "1 X370 1725 U1 12°0 1227 7 0°92 D1l 1225 197 110°0 1722 1INY1 DX 1’22 019w 1’222 nn '
(:11 M272) X277 X19UN 12°5Un XI0Ww 2277 2 XKDTI0 XINONAN 112 720N X20w 2’ pwT 92 X970

P20 N DINX RN X7 P °XX1 110°0 . X5T7101 XIXNON 17 :"wID

Thanks for visiting. Come again. I'm not sure where you are headed, but | hope it isn’t w1.
(.12P P2IM) P22 210 PRWI XY 27 K D71 27 X
(0 PLATR) DM 1R WD AR WD 92 X2PU 1970 D K

o0 0PWH 72 Iwn? 10 1KY 10 0w 019?72 XPX 019w 72 19 K DK 17200 030 190 PAX 1Nk
D1Pw5 7219 AR’ DX NN 1R DI 190 PAX °27 1K1 AP0 00 01wa 72 01pwaKd 19 K M oy
(.70 M272) DPwA PRAX DX XN ANXT AKX 01w 77 XX

(.X2 M2712) 1717 72 INnw

Please remember all the X11’s you learned here in this X°0r71 XNn post.

Perhaps you won’t remember where exactly your feet were when you read this:
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Where Exactly Were His Feet When He Said It

52 HXIAW X 9 DK X120 XUTD XTI XTIX XU XTI KR 22 DXINW 70K X1 171 P27 10 K
XPXD XPD0T XNP27 X077 XOX 1700 PNwK XDT X1 X720 XPNXP X297 *XNNAWT 7270 KT
(:U PRATR) TP XIPKA 71903 X7 X724 KIX PKIAWT 1720 KT 92 710K K9P X0

11070 DWW AP 71K 2P0 12 XAX 7"X OXND XUV D PRYPUNA 1900 110001 AP ARR Mvuo
T M2DX 71INA NINA X WX 2772 0 7INA 10307 PR TAK 0 27 K0 10107 X U2 D)
PUTD T XUIRK 7072 70 97 °KP 7022 X7 7177 9 IXD 0 129 17K 1901 UK 0070 2717 nph
TINN NAX X°72 NINA DX U772 22 NINA DAX 7307 0307 12 7K1 K0 10100 779 XK X3
(.03 PWV22) NVIA FINA NAX A

n”a

On this last one | want to point out that although it was forgotten exactly where *2777 17 took

leave of WX 712 °7°W "1 in the “ 1771217 ]2 NN” gemara over there in X TAY X? M273,

never-the-less he remembered exactly where *w7X "'s feet were when he said this 72977 here in

Pl

Perhaps you won’t remember where exactly your feet were when you read this, but you could
remember where my feet were when | wrote this:

(.1 Pw3) wTnn 0222 eI

“Au revoir mon ami”

TR DPRIW wRT? O 1 0717 2 KW 7N P10 71217 PR 1T 7900 19 12 e 1K

(20 1vI0)

Even if you only learned one thing:

121137 IKTP 121 DRI TP NI IPKNA 12w 112212 070 I AKX DIX 178X 1K 121 TAX P79 17300 TRt

("1 mwn " P1a Max °pan)

“Au revoir mon Etudiant” (student in french)

1277 VBIR TNRN

A 7n%n taking leave of his Rebbe.
J21 P91 DRI 237 2K PAX PUKA XM XD BwOK 2°027 1230 a0 b a1
(12 P"n)
DX IR D0 Wy 02w AN PN XY T8 127 °197 1050 MM Tndn mox Cin .2
G 7w nbun)
PN PR 127 XOX TINAXK X1 710710 TU DWW 1K 77021 w12 PR 270 atn a1 XN .3
(1 YD) NMIXDTD AWHOW PN 127 PIX

If the oo is 4 > so you can explain the *n%w17 is talking about pram 127,
if it were true that the Tuww of the distance for not paskening in the place
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of ones ’171 is the same 7w of distance that one is 211n to escort ones 11
out of the city, with the same distinction between pi2n 127, and 12°Xw 127
2. In fact I have no N1« that these two 0°1°1u are connected. I would
rather want to say that % 7% Mww and 7277 INK2 AXRNA M2 MWW
Tin? without distinguishing between P21 127 and pi2n 1wXw 121 in the case
of being 7nXa XM AN,
M T2 MUK 1T K7 2D 7201 173D TR XOK 7971 173D I XD 1270 TW0In RN o1 .4
AT TU PNTIX UK KPP I 302 130 10U M T 3T T R uon
T PP P0PRT TU PIINKD DIK Xp M 1307 UK 1 0ua M 71 e ne 10on
XNDIPOX JONNMAY 7PU1 1DRAT TU PIAKRD 21X M 70P 17 7P°Pn T2 n Mt 72 K27
XD12X w7 O1INT XU K D K K27 AN 00 Ao 1D D 1K XnT Ao 02T
(11 XnPr) X072
XNTIXA 7P MVDK T 12 URY M °2 07173 DWID 130 02732 T N o 1 e L5
1227 N7 12 1K XNTIXD 2P0 INI0DK XD TP 0K PR 20En Xp) 1T XKD
MoWw *PRwn 012 TAXKIY NIAX DUD 1307 T00°% PIX Ui N2 121 1270 00w 7R
XN XOX DUA NX MW *Ww1awn WIn awdbw 0wy 01 22021 1900 DX 12721 DUX DX
(.10 TP TWA) NINX DUD 1AM 70D I PUN NN 1211270 DI TRdn?
TR PO TN TAPY PINK 7907 PR NP NAwA 0100 DU 291 7PAw INK2 Awvun 1'n .6
5"X 72 M ANXK AX DX NAw D10 XD TU 010 P23 PNIWY 122w PINXR? NI PR 1H
(0 XA 29
Is it 7w to say that 7°xn ™1 needed to be told not to go past the naw on?
This question might be strengthened by the fact that 7°&n 3 holds Pminn
are XnN»7XT.
G2 P2PL) 211003 XOPTIKT PRIMN PR M 720R
So I want to answer with these xny’s:
7937 NAwn wN OX 2°N27 0127 X2 DINNY Y10 NNX 1930 D008 N2 DNX 1230 X0 7K
N°11 DMK 23 X 012’ DINND PN DAX 123 0100 N2 D0X 1930 PN 2202 7910
(23 PAIPY) PN XA DIPRD DRIK DX XCINT
(G aliaiis) aalaiSui vl PRIPHoIN
Also perhaps nx didn’t take into account the 797p:
J21 M P Nw 12 XOK ADTR 1K XD DPIRIK DR PR 1727 Uk 797 Pani
13 parru)
This one foot in is a sticky situation. Perhaps if you even bring it up it will
be upsetting:
5 1MPEX X7 2 7R NK DPWRA PN DK 193 0K T TIN2 00X 1930 PR ol
(332 XN2 X22) WA DA R
TN I 71212 7NN 92 23TRPNw 'Y 031 UK KA 2197 XAw TNX 21213 wun 1w
(.XP N2w) 1AW P12 NNRX2 19T NOX P30 Sy
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In the following the phrase 1171 7vo:1 has the more coloquially used

definition:
RN INWX D1PW XKD WK T I0K 17193 7290 ANnw bR M9 10 70 I0X TRbm
X°21 72 KP1 21X X221 XD 719 K DK X219 7K NI XY XD NI T X0KP OX %I

(.0 P2TPL) AN’ 21 127 2192 1257 AR 92 219210 70 XPX PDIX
This same story is brought in pw nu:
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